
 2018 Online Exam Review

GCSE HISTORY COMPONENT 2 (STUDIES B)

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 2563 1.7 1.4 5 34.4 91.5

2 2745 2.3 1.4 6 37.8 98

3 2728 4.2 2 9 47.2 97.4

4 2599 3.2 1.9 8 39.5 92.8

5 2589 4.9 2.8 12 41 92.4
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Examiner
only


QUESTION 4


Explain why Berlin was a cause of tension during the Cold War.	 [8]
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Question 5  


 


 
 


Question: How important was the Treaty of Versailles in causing 
problems for the Weimar Republic in the 1920s? [12] 


 


Band descriptors and mark allocations 
 


 AO1(a+b)  4 marks AO2  8 marks 
 


BAND 4 Demonstrates accurate and 
detailed knowledge and 
understanding of the key 
features in the question. 


4 Fully analyses and evaluates 
the importance of the key 
issue against other factors. 
There will be a reasoned and 
well supported judgement set 
within the appropriate 
historical context. 
 


7-8 


BAND 3 
 


Demonstrates detailed 
knowledge and 
understanding of the key 
features in the question. 


3 Analyses and evaluates  
the key issue against other 
factors.  
There will be a clear attempt to  
arrive at a judgement with  
support. 
 


5-6 


BAND 2 
 


Demonstrates some 
knowledge and 
understanding of the key 
features in the question. 


2 Begins to analyse and 
evaluate the key issue against 
other factors. An unsupported 
judgement of the issue is 
provided. 
 


3-4 


BAND 1 
 


Demonstrates limited 
knowledge and 
understanding of the key 
features in the question. 


1 Limited attempt to analyse and 
evaluate the key issue against 
other factors. 
 


1-2 


 


Use 0 for incorrect or irrelevant answers.  
 


Indicative content  
 


This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are: 
 


 the impact of defeat, the humiliation caused by the acceptance of the terms of the treaty 
and the need for revenge; 


 the creation of the `stab in the back` myth by the `November Criminals`; 
 anger at the war-guilt clause and the demand for reparations leading to the economic 


crisis; 
 territorial losses coupled with the loss of industrial regions; 
 military restrictions; 
 the failure of the government to negotiate entry into the League of Nations making 


Germany an outcast nation; 


Mark allocation: AO1 (a+b) AO2 AO3 AO4 


12 4 8   
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  in order to fully analyse and explain the importance of the Treaty of Versailles in causing 
problems for the Weimar Government answers should also consider the importance of a 
range of other factors; 


 answers could explain the impact of other factors such as: the weaknesses of Weimar 
coalition governments, political disillusionment as a result of a flawed constitution and 
the adoption of proportional representation, uprisings and attempts to de-stabilise the 
government, the impact of hyperinflation. 


 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
C100U20-1 Eduqas GCSE History - Component 2 MS Summer 2018/DM 












Sticky Note

AO1  Offers specific detail.



Sticky Note

AO1  Offers specific detail.



Sticky Note

AO1  Offers detailed knowledge of examples of unrest while inferring that it led to problems for the Weimar Government (AO).








Sticky Note

The candidate offers accurate and detailed knowledge and understanding of the issue (AO1) which gains Band 4 and 4 marks.  There is an attempt to analyse and evaluate the main issue in the question with some consideration of other factors but lacks the judgment needed for Band 4 and was awarded Band 3 and 5 marks.




Sticky Note

AO2  Identifies events leading to hyper-inflation and the resultant economic crisis.



Sticky Note

AO2  Attempts a  judgment but without support.
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QUESTION 5


How important was the Treaty of Versailles in causing problems for the Weimar Republic in the 
1920s?	 [12]


[In your answer you should discuss the importance of the Treaty of Versailles in causing problems 
for the Weimar Republic alongside other factors in order to reach a judgement.]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


© WJEC CBAC Ltd.












1 








 


 


 


 


 


 


 


 


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


3 








 


 


 


 


 


 


 


 


 


 


 


  


4 








6 








1 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


3 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








Q6 








1 








 


 


 


 


 


 


 


 


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


3 








 


 


 


 


 


 


 


 


 


 


 


  


4 








6 








1 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


3 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








Q6 








 


 


 


 


 


 


 


 


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


3 








1 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


8 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


3 








1 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


Q8 








 


 


 


 


 


 


 


 


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


3 








1 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


9 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


3 








1 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








 


 


 


 


 


 


 


 


 


 


 


  


Q9 

















2 








3 








 


 


 


 


 


 


 


 


 


 


 


  


4 








 


© WJEC CBAC Ltd. 3 


MARK SCHEME SUMMER 2018 
 


Component 2: PERIOD STUDY  
 


2B.The Development of Germany, 1919-1991  
 
Question 1  


 
Mark allocation:  AO1 (a)  AO2  AO3   AO4  


5 5      


 


Question : Describe the economic recovery of West Germany under 
Konrad Adenauer between 1949 and 1963. [5] 


 
Band descriptors and mark allocations 


 
 AO1(a)  5 marks 


 


BAND 3 Demonstrates detailed and accurate knowledge of the issue set 
within the appropriate historical context. 
 


4-5 


BAND 2 
 


Demonstrates some knowledge of the issue set. 2-3 


BAND 1 
 


Demonstrates limited knowledge of the issue set. 1 


 
 
Use 0 for incorrect or irrelevant answers.  
 
Indicative content  
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 


 his role in transforming West Germany into a prosperous industrial state as part of the 
`economic miracle`; 


 the introduction of the Deutschmark in June 1948 which stabilised the currency and 
encouraged investment; 


 the levying of high taxes on the wealthy which raised revenue; 


 the free market policies of Erhard and the effective use of Marshall Aid; 


 the emphasis on the replacement of old smokestack industries; 


 increased demand and production of consumer goods; 


 the rebuilding of homes after the devastation of war; 


 the reduction of unemployment;  


 co-operation with western European powers and entry into the ECSC and the EEC which 
boosted economic activity. 


 
 
  












Sticky Note

Error.



Sticky Note

AO1 Offers detailed knowledge of economic domestic recovery.



Sticky Note

AO1 Offers detailed knowledge of the resumption of trade and implies economic recovery. 



Sticky Note

The candidate displays sound knowledge and understanding of the issue which edges it into Band 3.  Reference to the "economic miracle" and the development of industry would have secured the full 5 marks.
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Examiner
only


Answer all questions.


QUESTION 1


Describe the economic recovery of West Germany under Konrad Adenauer between 1949 and 
1963.	 [5]
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Question 2  


 
Mark allocation:  AO1 (a+b)  AO2  AO3   AO4  


6  2  4   
 


Question: How far did the treatment of Jews change between 1939 
and 1945? [6] 


 
Band descriptors and mark allocations 
 


 AO1(a+b)  2 marks AO2  4 marks 
 


   BAND 3 
 


Fully analyses the nature 
and extent of change while 
arriving at a well-supported 
judgement on the issue set 
within the appropriate 
historical context. 


3-4 


BAND 2 
 


Demonstrates detailed 
knowledge and 
understanding of the 
key features in the 
question. 


2 BAND 2 
 


Begins to analyse the 
extent of change while 
arriving at a partial 
judgement. 


2 


BAND 1 
 


Demonstrates some 
knowledge and 
understanding of the 
key features in the 
question. 


 


1 BAND 1 
 


Provides limited analysis 
of the extent of change. 


1 


 


Use 0 for incorrect or irrelevant answers.  
 
Indicative content  
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:    
 


 the war as a catalyst in the treatment of Jews and how treatment intensified as the war 
progressed; 


 the gathering of Jews into ghettos or `Jewish reservations` in towns;  


 the actions of the Einsatzgruppen and the systematic murder of more than 2 million, 
mainly Russian Jews; 


 the building of concentration camps and the mass transportation of Jews; 


 decisions made at the Wannsee Conference leading to the systematic killing of Jews, 
mass genocide and industrialised murder in the Final Solution; 


 Credit reference to the situation on the eve of war in 1939 and to antecedents such as 
Kristallnacht as a precursor to the Holocaust.  


 
  












Sticky Note

AO2 The beginning of a judgment.



Sticky Note

AO2 Identifies the key to the issue that 
the treatment of Jews changed throughout the war.



Sticky Note

AO2  Infers that the Wannsee Conference was a significant factor in moves to exterminate the Jews. 



Sticky Note

AO1 Offers contextual knowledge. 




Sticky Note

AO2  Hints at a judgment.



Sticky Note

The candidate offers detailed knowledge and understanding of the issue and is awarded Band 2, 2 marks for AO1. There is some attempt to analyse the extent of change and the candidate arrives at a partial judgment and so is awarded 2 marks. Some reference to the war acting as a catalyst in the intensification of the treatment of Jews would have elevated the response to Band 3.        4/6
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QUESTION 2


How far did the treatment of Jews change between 1939 and 1945?	 [6]
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Question 3  
 
Mark allocation:  AO1 (a+b)  AO2  AO3   AO4  


9  3  6   


   


Question: The Nazis came to power in January 1933 as a result of 
factors  such as: 


 


 The use of violence 


 The use of propaganda 


 The Depression 
 
Arrange the factors in order of their significance in the Nazi  
rise to power.  Explain your choices. [9] 
 
Band descriptors and mark allocations 
 


 AO1(a+b)  3 marks AO2  6 marks 
 


BAND 3 
 


Demonstrates detailed 
knowledge and 
understanding of the 
features mentioned. 


3 Fully explains the significance 
of the factors in the question. 
There will be a clear, well-
supported justification of the 
relative significance of the 
factors set within the 
appropriate historical context. 


5-6 


BAND 2 
 


Demonstrates some 
knowledge and 
understanding of the 
features mentioned.  


2 Begins to explain the 
significance of the factors in 
influencing lives. There will be 
some justification of the 
relative significance of the 
factors. 


3-4 


BAND 1 
 


Demonstrates limited 
knowledge and 
understanding of the 
features mentioned.  


1 Limited explanation of the 
significance of the factors in 
influencing lives. There will be 
little attempt to justify the 
relative significance of the 
factors. 


1-2 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content  
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Examiners should note that the order of significance suggested by 
candidates will vary. Marks should be awarded for the quality of justification provided by 
candidates. Some of the issues to consider are: 
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 The use of violence was significant in a number of ways: the founding of the SA as a 
paramilitary organization was used to intimidate opponents of the Nazis and disrupt their 
meetings; the SA clashed with the Communists as Hitler sought to show how they could 
counter the threat of a takeover; their use in intimidating and attacking Jews and other 
undesirables; the use of violence during the Munich Putsch and the lessons learned. 
 


 The use of propaganda was significant in a number of ways: the effective use of mass 
rallies, speeches, banners, films and radio; the role of Goebbels in promoting Nazism; 
the production and circulation of pamphlets and newspapers; the effective use of posters 
to promote Nazi ideals and comment on the issues of the time.  
 


 The Depression was significant in a number of ways: it resulted in political as well as 
economic crisis and the weak coalition Weimar governments were unable to deal with 
the problems; the dramatic rise in unemployment, poverty and its effects and how the 
Nazis made capital; how many Germans turned to extremist parties to provide solutions 
and how Hitler played on the fears of a Communist takeover. 
 
 


 


  












Sticky Note

AO1 Offers contextual knowledge. 




Sticky Note

AO2  Touches on how the Nazis capitalised on the economic situation. 



Sticky Note

AO2  Identifies the use of propaganda set in the historical context.



Sticky Note

 AO2 Attempts to consider the relative significance of the factors.








Sticky Note

AO2  Identifies how the use of violence had a negative impact on support for the Nazis.



Sticky Note

The candidate displays detailed knowledge of the factors and gains Band 3 for AO1 and 3 marks. There is some attempt to justify the relative significance of the factors though without development which gains Band 2 and 4 marks.  7/9                     
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Examiner
only


QUESTION 3


The Nazis came to power in January 1933 as a result of factors such as:


	 •	 The use of violence
	 •	 The use of propaganda
	 •	 The Depression


Arrange the factors in order of their significance in the Nazi rise to power. Explain your choices. 	[9]


1st ....................................................................              2nd ....................................................................              3rd ....................................................................
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Question 4  


 
Mark allocation:  AO1 (a+b)  AO2  AO3  AO4   


8  3  5   


 


Question: Explain why Berlin was a cause of tension during the 
Cold War.  [8] 


 
Band descriptors and mark allocations 
 


 AO1(a+b)  3 marks AO2  5 marks 
 


BAND 3 
 


Demonstrates detailed 
knowledge and 
understanding of the key 
features in the question. 


3 Fully explains the issue with 
clear focus set within the 
appropriate historical context. 
 


4-5 


BAND 2 
 


Demonstrates some 
knowledge and 
understanding of the key 
features in the question. 
 


2 Partially explains the issue 
within the appropriate 
historical context. 


2-3 


BAND 1 
 


Demonstrates limited 
knowledge and 
understanding of the key 
features in the question. 


1 Limited explanation of the 
issue. 
 


1 


 
 
Use 0 for incorrect or irrelevant answers. 


 
Indicative content  
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:   
 


 post-war tension and how East Berlin became a symbol of the Cold War; 


 how the Western powers pumped resources into Berlin to the embarrassment of the 
USSR; 


 the Berlin Crisis of 1948-49 and Stalin`s eventual step-down; 


 East Berlin as a gateway for the exodus of professionals leading to the building of the 
Berlin Wall which became a physical symbol of the Cold War; 


 Berlin as an island of capitalism in a sea of Communism; 


 how the Western powers became convinced of the need for increased military co-
operation leading to the establishment of NATO; 


 the euphoria at the dismantling of the Berlin Wall and the ending of the Cold War. 


 
  












Sticky Note

AO1 Demonstrates knowledge of wartime conferences.




Sticky Note

AO2 Identifies a reason for tension which could be developed further.



Sticky Note

AO1 Offers specific detail.



Sticky Note

AO2  Identifies the Berlin Wall as a physical barrier while inferring that it was a symbol of the Cold War.  



Sticky Note

AO2 Identifies a cause of tension.



Sticky Note

The candidate displays detailed knowledge and understanding of the issue and so gained Band 3 and 3 marks for AO1. For AO2 there is a partial attempt to explain the causes of tension but without development which puts it at Band 2 and 3 marks. 6/8.











